asym_sam?2

asym_sam4

asym_samb6

asym_sam3

i —300
6000 [

- —a5¢
4000 [
2000 [ o

o [

i 150
-2000 |

- 100
~4000 |
-6000 50

- [ |
_B.DDD _| | L1 11 | L1 11 I L1 11 | L1 11 | L1 11 | L1 11 I 11 D

a0 20 10 0 20 a0

diff_bpmXum
difL
I

T —|a5¢
6000 [
4000 |- 20
2000 |-

- 15¢

o

-2000 |- 100
~4000 [

- 50
-6000 |- -

o [ |
—B‘DDD _| | L 111 | L 1 11 I L 111 | L 111 | L1 11 | L 111 I 1 D

ap 20 10 0 1 20 a0

difi _bpm1Xum

diff_bpm1X

4000 —25(
B — 200
2000 —
- 15(
ﬂ_
I 100
2000 —
i 50
4000 —
| N "
plvvva bvvra v by bvvra brv b o
=30 20 =10 1] 10 20 an

diff_bpm1Xum

diff_bpmlX

1000
- 00
500 |-
a 30(
ﬂ_
| 200
500
i 10(
1000
_I | L1 11 | L1 11 I 1 11 L1 11 | L1 11 | 1 11 | I 11

run7292 000 regression-asym sam

B B B [ — —18c
- e, - i —o5( - =
6000 [ 6000 [ 300 6000 [ 6000 [ .
4000 oo 4000 |- 25¢ 4000 [ —20( 4000 —1ar
B B B B -
2000 — 2000 2000 2000 — —12C
B B 200 B B
- 15( - - 13 C
or or o o
B B 15( B B
2000 N 10 2000 N = 2000 — 100 = 2000 N
L L L L W
~4000 |- ~4000 |- 1o -4000 |- S
B 50 B i 50 B
-g000 — -g000 — 50 000 — ~-g00a —
B B B i m f = 20
80007, b b b L 0 =BO00 = b b b b L 0 8000 v b by L 0 8000 = i b b L 0
=30 =20 =10 (1] 10 20 =30 =20 =10 1] 10 20 b =20 =10 (1] 10 20 =100 =50 (1] 50 100 150
difi_bomdaYium diff_bpm4aX/um difi_bpm4aYium difi_bom12X/um
BOOD —{25¢ BODD . ooy BODO |- BUOD 11
B | B B - W
i i s i i — 160
4000 4000 = 4000 — 200 4000
i ] i —18¢ i i
i 2 i i i ar
2000 2000 [ —180 2000 [ 2000 [
- - - 15( -
B 15 B u B B
o o o g
2000 — 2000 — 2000 — 100 2000 —
i 10 i i i O
4000 mm ~4000 |- ~4000 |- g ~4000
i 50 N N a0 N
~6000 - ~6000 |- 6000 m ~6000 "
- | - | - | - |
_E_Dnn_llIII|IIIIIIIII|IIII|IIII|III 0 _E_DDD_II|IIII|IIII|IIII|IIII|IIII|IIII|II _mun_llll|||||||||||||||||||||| 0 _E_Dnn_lll|IIII|IIII|IIII|IIII|IIII 0
=30 20 =10 (1] 10 20 =30 20 =10 1] 10 20 b 20 =10 (1] 10 20 =100 -850 (1] 50 100 160
difi_bpmda¥ium difi _bpmdeXsum diff _bpmdeium diff_bpm12X¥/um
: L : ' o : ¢
4000 — 4000 — oy 4000 4000 —{1B[
| e | — 25 —{q&0
2000 2000 —1 200 2000 2000 —{14L(
B 200 B — 200
B B 120
| | 15(
(1] o 15 {1} o 1] 150 1] 100
- - 80
i . W 100 100
2000 - 1ot 2000 |- -2000 -2000 B0
B - W
- - 40
I 50 I a0 50
4000 N 4000 — [ | =400 40100 20
| [ | | [ | | |
T N T T I 0 IO O A AN B A O B A 0 e lvv e bvrva b v rr v v b b 0 AN [ T N T N O I O A O o [ N I I O IO O B O A O B B AN O B B N A
~30 20 =10 (1] 10 20 ~30 20 =10 1] 10 20 b 20 =10 1] 10 20 =100 -850 1] 50 100 180
difi_bom4aYium diff_bpm4eX/um difi_bpmdaYium difi_bom12Xium
—221 — —{ 200 —18I[
- B
1-|}|:IU — apr 1000 — —{500 H}DU — 1000 —
. . . —{18¢ . —{186(
| —{18¢ | i |
- - i —{16( i —{14(
500 —16( 500 —[#0L 500 500
| | B —114( |
—{12(
: 14 : - :
- 120 - 30C - -
o o o o
| 100 | i |
B BD B 200 i B
~R00 &0 500 — 500 — ~R00
i 40 i 100 i i
1000 — 20 —1{?DD 1000 | | 1000 — | 20
i III|J_III|IIII|IIII|IIII| T N T RN NN 0

|..uggﬂl"""24wvs d

mm;e

OLZ postpan.png

=100 -50 1] 50 100 150
diff_bpm12X/um



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run7292 000

=1000

1000

500

=500

=1000

400

200

=200

~400

-600

200

100

=100

=200

-300

=30 =20 =10 o 10 20 30
diff_bpmXum

-30 -20 =10 0 10 20 an
difi _bpm1Xum

-30 -20 =10 0 10 20 30
diff_bpm1Xum

—31} -20) -10

resression’ -reg sam2468-

160

140

120

200

180

160

141

180

160

14(

120

200

180

161

14(

e

1000 —
I —{18( —16(
i —{18( yat
500 —
| 14( e
ﬂ_
~R00
B H B B [ | [ | [ |
1000 — 1000 —
NI AN I AN I AN A AN A AN BN A B A A A A pr b v b v e bvvra bvvrar b b
=30 =20 =10 (1] 10 20 =30 =20 =10 1] 10 20 b
diii_bpmdaYium difi_bpmdaX/um
-' .'
: 2 : —{18¢
- u —{opi - u
1000 1000 —|16¢
i —18I[ i
i i —14c
| —{16L |
300 00 —{12(
- " " .
o o
- | - W
~500 =500 —
1000 — 1000
n n [ | [ |
- i = . - o f
I T T NN AN N 0 Lo Lo b bera b e b o b 0
=30 20 =10 (1] 10 20 —.':'I--I::| 20 =10 1] 10 20 b
difi_bpmda¥ium difi _bpmdeXsum
d' dlf. f hpmélﬁL
| | I
R R |
600 - —{180 600 - "» —{16¢
. —16( Z _|
I 400 — I 400 — 14(
- —14( | -
| B ] B —12(
200 200
i | =
II]_— u II]_—
200 -200 i
~ 400 400 —
=00 — [ [ =600 — [ [
Lol bt vra bv v oo by 0 o bvv o b b b brnra bvraa by 0
~30 20 =10 (1] 10 20 ~30 20 =10 1] 10 20 b
diifi_bpmdaYium difi_bpmdaX/um
d. d.
— 200
300 - — 201 300 | 0 mw —18(
N N L]
| - —18( | - —180
200 | 200 f
- —[16C - —{14r
. ] C =
100 —{14¢ 100 m 10
B 120 B
i b
B 10C B
B [ m
-loor 80 100 -
B 60 B
=200 =200 —
B 40 B
N _ E N
~300 20 ~300 |- n |
L1 | 11 B

~vs diff’ bpm-¢

1.7

1000

500

=500

= 1000

1000

500

=500

= 1000

91

600

400

200

=200

~400

-600

9-.

300

200

100

=100

- 200

-300

20 10 0 10 20
diff_bomdeY/um

=20 =10 1] 10 20
diff_bpmday/um

20 10 0 10 20
diff_bpmdaY/um

hpméleY

- POS

-20) =10

18(

160

140

120

200

180

160

141

180

160

141

120

200

181

160

14(

tpan:png

1000
i - —18¢
i —{14c
500
a —{12¢
i - 100
D_
I 80
i B0
~500 |
. 40
i - . 20
~1000 |-
11 1 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 ﬂ
- 100 50 ) 50 100 150
diff_bpm12X/um
l-
. — —18¢
- m
- —{16¢
1000
i —{1ac
500 — —12(
D_
~500
~1000
§ T ] u
_I L1 | L1 11 | | I .| | L1 11 | | I | | L1 11 ﬂ
— 100 50 ) 50 100 150
diff_bpm12X/um
diff_ bpm12X
- - . —{186¢
i .l
3 —14(
' apo -
: - —12¢
I i L
T ooon
- n
o
_app ™
L
_400
i 20
=600 — HE NN
IR TN NN R 0
~100 50 ) 50 100 150
diff_bpm12X/um
difL
| —
0 —2p
00 —
- —{18¢
' an — 180
IF —14¢
100
of
100
-200 -
300

N T AT T T T T T I T I A 0
=100 -50 1] 50 100 150
diff_bpm12X/um



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

a

6000 [~ ﬁ x2/ndf  35.43/43
4000 | LHH p0 2.006 + 6.986
I Hﬂ}ﬂﬂ
2000 - p1 -188.3+1.0
of
-2000 —
i -
~4000 | 1’“Lrlht
6000 — 1
:I | | 1111 I 1111 | 1 111 | 1111 | 1111 | 1111 |_| |

=30 =20 =10 1] 10 20 30

91

iff_bpm1X

I ¥2 / ndf 35.4/43
4000 1= WH p0 1.031+ 8.632
L T p1 ~134.3+1.3
2000 —
ol
2000 —
4000 -— hﬁﬁ
r| | | 11 11 I 11 11 | L1 11 | 11 11 | | | | 11 11 | 11

=30 =20 =10 1] 10 20 30

diff_bpm1X

%2 / ndf 34.85/ 43

p0  -1.182 + 5.234 wﬁr_
-
+H_Hj-t}

pl 99.74 + 0.76

1000
of

~1000
: ‘

-2000 | #

-:mnnf—hw
:||||||||||||||||||||||||||||||||||

=30 =20 =10 1] 10 20 30

9-.

iff_bpm1X

1000 — h} 12 / ndf 34.29 /43
[y p0 05217 + 0.6146
I *,

500 ™ p1 _29.68 + 0.09
ﬂ_

=500 — T
N +.|.‘|‘_H_
B 1+Lt|*.|.+F-'

'H}DU_||||||||||||||||||||||||||||||||

run7292 000 regression asym sam

6000 — - ]L %2 / ndf 59.73/ 38
- H
w0l 41 | p0  -9.204 + 9.680
i b
i TH*HI p1 -193.7 +1.9
2000 _— }
ol
2000 _— ;
i +'}L”J '
=4000 :— ﬁ_h_
| L1 11 | L1 11 I L1 11 | L1 11 | | I | | L1 1
=30 =20 =10 (1] 10 20

diff_bpmdaY _

;

bpmdeX

- ¥2 [ ndf 26.79 / 42
6000 —

- Hﬂﬁ p0 0.9638 + 7.0222
so00 - - W,

B +

- i p1 ~185.6 + 1.0
2000 —

op

=2000 :—

B R
~4000 [ fﬂJ’Jr’f]lﬁ {h
~6000 :— i1‘+_

_III|IIII|IIII|IIII|IIII|IIII|IIII|_III

30 =20 10 1] 10 20 30

diff_

¥2/ndf  61.72/38 . ¥2/ndf  24.41/42
p0 —-4.201+ 8.910 I po 1.672 + B.684
+| h 4000 -
p1 169 +1.7 Hd[ L - [Li}’r p1 -131.9+1.3
#'' - ++1+
2000 |- 2000~ ;
ol n:—
_2000 |- | i ~2000 1~ ++’r+ # -
I 4000
~4000 — 1 - -
|IIII|IIIIIIIIIlIIIIlIIIIlIII _III|IIII|IIII|IIII|IIII|IIII|IIII|III
30  -20  -10 0 10 20 30 -20 -10 0 10 20 30
¥/ ndf EEHEB %2/ ndf 2511{42
p0 5121+ 4.977 #*”1+ f PO —0.6369 + 5.2564 F i
try l.m
o1 139.1+1.0 p1 98.19+0.75 A
of oF
~1000 |- ~1000 f—
- - }
-2000 - w{ﬂ ~2000 | {_}_Ptﬂ*ﬁ+
_:mnnf— . { -:mnnf— Hﬂ
- e+ F
4000 - _ 4000 =
il IV T T T T T A T Y B O Dol b bvven v b braaa b
30  -20  -10 0 10 20 3 -20 -10 0 10 20 30
diff_bpm4aY diff_bpmd4eX
- i %2 { ndf 60.23 /38 oo %2/ ndf 63.67 /42
200 |- [
i p0 —0.9706 £ 1.7404 [ m“‘«.‘ p0 0.4094 * 0.6006
100 :— { : HM pi -4.711+0.332 00T - pi -29.47 + 0.09
of “ H I
i or
-100 - | t i
B I ~500 _ L
-200 | - a
i i ”*14 _
—mi— i

CARA68 Vs diff bomifit

%

bpmdeY

6000 |- - T v /ndf  37.01/40
R
4000 - H{H{{ h p0 —9.0511 9.445
2000 |- ﬁh p1 -206+1.9
of
=200 :—
- +h"14++ { +
= 4000 ~ ‘-h_\{- }
i +h
=GO00
: 1 1 1 | I T | | 11 1 | I . | 11 1 1 | 1 1 1

=20 =10 1] 10 20

dlff_hpméleL

%2 / ndf 46.06 / 40

p0  -5506 + 8.896 {
i
p1 1741+ 1.8 T |
of
= 2000 :— .| h}
[ ﬁﬂﬁf
4000 _— -| |~
6000 _ N | | | |
L1 |_E.D| L1 |_1D| L1 |D L1 1 |1.D| L1 |2D| [ |

diff_bpmdeY

¥/ ndf 36.04 / 40

p0 4912 £ 4854 H‘:} |
o1 1461+ 1.0 i
1000 —
~1000 —
-zunn;— _ L’rﬂﬁ
-:mnn;— ++HH'
~4000 | .

B T R T

(!JthpmABY

- %2/ ndf 52.97 / 40
200

N p0 -1.115 + 1.740
100

: ey pt ~3.664 + 0.346

o T T

- Wﬂ]ﬁ | |
100 + }
_;mnf—
so0f- |
_mnf—

:_I 1 1 | I T | | 11 1 | 1 1 1 | | 11 1 1 | 1 1 1

T

_posipan pnge

diff _ bpml2X
¥2 [ ndf 37.61/43

p0  -11.21+11.63 !
p1 18.92 + 0.39 me
W

—_—
1

1000
1]
= 1000

= 2000

+ m}h
|

40000 o e b by b g |
=100 ~50 0 a0 100 150

!

=3000

IIIII|IIII|IIII|IIII|IIII|II
[ T—

i

- 2
5000 £ < [ ndf 53.47 /43
4000 [ p0  -4.659 + 11.189
3000 |- pf -7.133 £ 0.367
2000 -
1000 f— |H { }
DE— ) ’rH{hM
-mnnf— ‘&Jﬂdﬁw o
_2000 |-
~3000 |- )
_II|||||||||||||||||||||I|III|
100 <50 0 50 100 150
diff
¥2 ! ndf 40.06 / 43
2000  °
] p0 6514 + 7.027
1000 * Hﬂw p1 -11.77 £ 0.23
o

=1000

= 2000

i

_|IIII|IIIIIIIIIIIIIIIIIIIIIII
=
—t

3000y v bv v v b v brr o |
=100 =50 1] 50 100 1580
diff bpml2X
1=/ ndf 37.75/743
p0 -0.8486 £ 1.7255 }
p1 0.9829 + 0.0576 1
mnf— ]L} |
n— \{ ”“
oo 1 ﬂﬂ * -
-zﬁnf—_-H
—E-DD:—
Bovo v v Ty v bv v v ran bvna g

-100 ~50 1] 50 100 150



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run7292_000_re;

diff bpm1X

¥2  ndf 37.25/ 43
p0  —0.3117 £ 1.7584
p1 0.2616 + 0.2547

o | Iy

|||||||||||||||||||||||||||||||||||

|__

diff_bpm1X

%2 { ndf 28.4 /43

po 3.137 + 2.081

p1 0.1948 + 0.3046

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_ bpm1X

2 { ndf 44.07 1 43

po 0.3835 + 1.2201

pi 0.0695 + 0.1769

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

0o
H

||||||||||||||| H|||||||||||||||||

oression reg

400

300 —

2 ndf
n0 ~1.317 = 1.761
p1 ~0.2058 + 0.3340

diff_bpmdaY

26.47 /38

{WWMWM

diff_bpmdaY

%2 [ ndf 54.8 / 38

po 3.475 + 2.084

p1 0.5145 + 0.3997

=/ ndf

%
pO
P

1 0.07731

|

T }
oo F

diff bpmd4aY
2928/ 38
!

F [

M'

}'_

3 MW&WW“W |_
diff_bpmdeX
AN |

at
8O0 X
pO -0
BO0
p1 —.0
400
t

diff_bpmdeY

=100

sam2468 vs dif

Ia Wﬁwwww*m:

| H

“hiin

M‘

100 |;
200 |
=300 B
HEEE
a0
IE { naf 8,727 42
po 04155+ 0.5130
p1 1

w2 | ndf 37.39/ 40
po 3.311 £ 2.082 { }
p1 0.1116 + 0.4118 | H

uT |‘| |H'11T1‘H”*' P P +|f[j|ﬁH k { '
100 } J
-E{:II:If— -
-.'?H}DE—
40
=500

..........................

2 B T

I

_&o

B0 v v bvv o b by Py

fit postpan.pne




asym_sam

asym_sam

asym_sam

asym_sam

6000

4000

2000

=2000

-4000

-6000

-8000

6000

4000

2000

=2000

=4000

=6000

-8000

diff_bpmXum

difi _bpm1Xum

4000

2000

=2000

-4000

diff_bpm1Xum

1000

500

=500

=1000

6000

4000

2000

=2000

-4000

6000

8000

6000

4000

2000

=2000

=4000

6000

8000

4000

2000

=2000

-4000

1000

500

- 500

=1000

30 20 10 0 10 20
diff_bpmda¥ium

=30 =20 =10 0 10 20
diff_bpmda/um

30 20 10 0 10 20
diff_bpmda¥ium

run7292 000 regression-asym sam

6000 —

4000 —

2000

=2000 —

-4000 —

-6000 —

8000 —

6000

4000

2000 —

=2000 —

-4000 —

6000 —

diff_bpmdeX/um

8000

4000 —

2000

=2000 —

-4000 —

diff_bpmdaX/um

1000 —

500 —

500 —

=1000 —

am2468- vs diff

diff_bpmdeX/um

IlJ_II |I

“bpm=scat

6000 —

4000 —

2000

=2000 —

4000 —

6000 —

~8000 —

6000

4000

2000 —

=2000 —

=4000

6000 —

10 0 10 20
diff_bomdeY/um

-8000

4000 —

2000

= 2000 —

4000 —

=10 1] 10 20
diff_bpmday/um

1000 —

500

~500

=1000 —

-
=
o

10 20
diff_bpmdaY/um

—ED

0S

tpaﬁ:ﬁng

6000

4000

2000

=2000

~4000

~6000

~8000

6000

4000

2000

=2000

=4000

~6000

~8000

4000

2000

= 2000

~4000

1000

200

-500

=1000

1
50 100 150
diff_bpm12X/um

50 100 150
diff_bpm1 2X/um

1
50 100 150
diff_bpm12X/um

50 100 150
diff_bpm12X/um



1000 — . 1000 1000 — 1000 1000
o . 1] o o 1]
eg_asym_sa | | |
1000 — =1000 1000 — 1000 =1000
pr b v b v e bvvra bvvrar b b I H T N N T N T N N T M AN M MO M A A B A ! 1
=30 =20 =10 (1] 10 20 =30 =20 =10 1] 10 20 b =20 =10 (1] 10 20 =100 =50 (1] 50 100 150
diff_bom1Xium difi_bomdaYium diff_bpm4aX/um difi_bpm4aYium difi_bom12X/um
I ] lji L 1 ] ] I L1 I]i
| I | I | I |
1000 1000 R 1000 - IR 1000 B 1000
500 500 — 500 — 500 500 —
] o o o o
=500 =500 =500 — =500 — =500
~1000 ~1000 |- RO ~1000 I ~1000 |- Gl ~1000 [
I T T NN AN N Lo Lo b bera b e b o b N NN RN N N T T N
=30 20 =10 (1] 10 20 =30 20 =10 1] 10 20 b 20 =10 (1] 10 20 =100 -850 (1] 50 100 160
difi _bpm1Xum difi_bpmda¥ium difi _bpmdeXsum diff _bpmdeium diff_bpm12X¥/um
L] L ] L] Ijt L] L ] I]i
- 60D [ - 600 e © 600 - 60D - 600
" 400 ' so0 " a0 " a0 ' s00
4 FoF b FoF g FoF
200 200 — 200 — 200 _'. 200 —
1] II]_— II]_— II:F_— II]_—
reg_asyin_Sail - o ._ F F 2
400 ~ 400 400 — ~ 400 — ~ 400
~600 600 - _ o 600 |- o | 600 |- _ o 600 -
Lol bt vra bv v oo by o bvv o b b b brnra bvraa by N T T N T T I TN A M O O A O RO ol v v bv v v by v b bua
~30 20 =10 (1] 10 20 ~30 20 =10 1] 10 20 b 20 =10 1] 10 20 =100 -850 1] 50 100 180
diff_bom1Xium difi_bom4aYium diff_bpm4eX/um difi_bpmdaYium difi_bom12Xium
. . . [bf . l I Y .
. I n I n = I n L
- 300 - 300 - 300 - a0 - 300
| s | n ) | n | s | n '
200 200 200 200 _ 200
| : | : | : | : |
1 B 1 B 1 [ 1 [ 1
100 100 100 100 100
of of of of :
g— y — 100 100 100 S0 100
-200 ~200 - -200 -200 | -200
wop | | 300 o -300 | - ~300 F g ~300

=10 =100 -50 1] 50 100 150

~vs diff bpm-scat postpan.pne

run7292 000 resression-reg sam24



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

diff_ bpm1X

1500 — n 22
- —20¢
1000 —18¢
— 16
EﬂD:-
[ =
b
-500 [
~1000 |
B |IIII|IIII|IIII|IIII|IIII|IIII|II
-1500 -:m -20 -10 0 10 a0 a0
diff_bpmXum
d'
| I
_ —|70¢
3000 - o
B —soc
2000 -
- —50c
1000 |~
i 400
b
~1000 |
-2000 |
_S.DDD_IllllllllllllllllIIII|IIII|IIII|II
3 -20 -10 ) 10 20 a0
difi _bpm1Xum
djfL
- — —20(
3000 —18¢
2000 '8
- —14c
1000 |
o
-1000
2000
-3000
- 20
4000
JENEEREEEEEE NN NN NN BN o
-3 -20 -10 ) 10 20 a0
diff_bpm1Xum
— 500
1000 —145(
—anc
SO0 o KT
anc
0 26(

=500

=1000

run’?/ 292_000_re2”réssmn'" -asym ‘sam

10

1500

1000

500

=500

=1000

=1500

—|45(

—35(

25

B | 111 1 | L 111 I L 111 | 1 111 | 1 111 | 1 11
30 20 10 0 10 20
diff_bpmda¥ium

B — — 240
3000
B —22(
[ —200
2000
B —{18(
1000 - —|16C
b
~1000 |
~2000
- 20
_:H}DD _l | I .| | | I . | I | I . | | L1 11 | L1 11 | L1 1 ﬂ
_ap 20 10 ) 10 20
diff bpmda¥ium
'l-
3000 & —|700
2000 | —60L
1000 |
o
-1000 F
- 300
2000
. 200
3000
- 10
~4pp0 | W
JEEEEEEEEEE TN N N N 0
~30 30 10 0 10 20
diff_bpmda¥ium
difL
—|z2¢
1000 —{z0c
—{18¢
00 —{18¢
—{14c

~ 500 —

=1000

am1357 vs d

diff_bpmdeY

diff_bpmi2X

B i —{40( B
. —{25¢ _ .
1500 - u 1500 — M 1500 u ]
- L i —asc - 18
- | - - —{16¢
1000 200 1000 [~ apr 1000 [~
0 - - —{14c
- - - n
500 500 —250 500
5 15¢ N 5
[ = Z 200 [ a
o b o n
B 100 i 15[ B
500 :— 500 — 500 :—
- - 100 -
B 50 B B
~1000 ~1000 ~1000 ll
R 5 G R -
[ [ [ 20
B B B n H
—1EDD B | L1 11 | L 11 I| L1 11 |I 1 11 |I 1 11 | L1 11 | 11 ﬂ _1500 -I || | L1 1 1 | L1 11 | L1 1 1 I | I I | | 11 D _.15nn -I || | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 ﬂ
-:3.11: 20 =10 ) 10 20 an -20 10 ) 10 20 - 100 50 ) 50 100 150
diff_ bpmdeX/um diff_ bpmdeYium diff_bpm12X/um
d ' d . d '
N — - - —20(
3000 - o 000 —op 000
B —{aor B N —{1B(
Z - —18¢ -
2000 2000 | 2000 —16(
B —{50( i —{16( B
[ C - —14¢
1000 1000 14 1000
- 400 C Z
; e ;
o b b
~1000 | 1000 | ~1000 |
~2000 | ~2000 | ~2000
B i B an
_SDDD _I | | L1 11 | L1111 | L1 11 | L1 11 | L1 11 | L1 11 | L1 _':}DDD _I L1 | L1 1 1 | L1 1 1 | L1 11 I L1 1 1 | L1 D —3‘[:":"] _I L1 | L1 11 | | I .| | L1 11 | | I | | L1 11 ﬂ
30 -20 -10 ) 10 20 a0 20 10 ) 10 20 — 100 50 ) 50 100 150
diff bpmdeX/um ditf_bpmdeYium diff_bpm12X/um
diff _ diff_bpmdeY diff _
B —{ 200 C B
3000 3000 | 3000 .
5 —18( - g o0t -
2000 - e 2000 - 2000 - Lyt
- N —500 -
1000 | —{14r 1000 | 1000 —yop
0 :— 0 :— 0 :— 100
~1000 ~1000 F 3t ~1000 B0
n N n -
~2000 | 2000 300 2000
~ap00 ~a000 ~3000 -
- - 100 - i
C 20 u = 20
4000 I~ 4000 - ® -4000 | n
Eo L e b bera b e bvr o b 0 JEEEEEEEEEEEEE T N o SEEETEEEE N T T N 0
30 <20 -10 ) 10 20 an 30 10 ) 10 20 ~100 50 ) 50 100 150
diff_bpmdaX/um diff_bpmdaY/um diff_bpm12X/um
| == —1=200 i [ i E =
1000 1000 200 1000
i i | —{16¢
| | —18( |
- 400 - - _
- - —16¢ - 14
500 — 500 |- 500
i i —14( i —12¢
300 -
- - - -
= ok ok
- 200 - -
~500 - ~500 - _500
- 100 - -
~1000 - ~1000 -1000 | e 20
IlllJ_l 11 | 111 I | 1 11 I | 111 I| 11 1 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 ﬂ

mm;e

OLZ postpan.png

=100 -50 1] 50 100 150
diff_bpm12X/um



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run7292 000

200

100

- 100

=200

-300

'y

-.'?H} =20 =10 o 10 20 30
diff_bpmXum

91

400

300

. 200

Y100

=100

=200

=300

=400

=500

400

200

=200

~400

-600

200

100

-100

- 200

~300

-31} -20 =10 0 10 20 an
difi _bpm1Xum

-30 -20 =10 0 10 20 30
diff_bpm1Xum

=30 -20) -10

160

14(

120

22(

200

180

160

180

160

140

180

160

141

120

diff_bpmd4aY

300 |- —{18(
00l —16(
| [ m {141

100 |

oF
100
200 -
-300 EE 20
_l 1 11 1 | I | I I | | 1 111 | 1 111 | 1L 11 0
30 20 -10 0 10 20

diff_bpmda¥ium

°1

- — 180
300 — —{1&(
I EDD_— —{14(
] N —{12(
100
o
100
-200
N [ ]
-300 — E =
B | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | 11 ﬂ

T R T — 10 20 30
diff_bpmdeX/um

diff_bpmdeX

: —18(
ao0 |
- —16(
I -
, oo —14(
] [ =
100 |- —12(
of
100 -
200 |
~300 | mn
111 | L 1 1 1 | L1 1 1 | 1 1 1 1 I I I | | L 1
-20 -10 0 10 20

diff_bomdeY/um

91

: — —lag " :
400 | 400 400 mpe
- - —22c -
00 — 300 — o0 |
I - —{ 200 | u [ C
. 200F . 200F e . 200F —181
| - | - | - _
* oo g ™ ' o100 —{18¢ " 100F g 18t
- 15( - -
o o 0F m
~100 -100 -100 |
S 100 - -
-200 - 200 | -200
=300 :_ 300 :_ _300 :_
: - 50 : : " ©
400 =400 =400 =
- u - u - u 30
~500 | " -500 " 500 m
—||||||||||I|||||||||||||||||| ﬂ —|||||||||||||||||||||||||||||||||| —||||||||||||||||||I||||||| D
=30 20 =10 (1] 10 20 =30 20 =10 1] 10 20 b 20 =10 (1] 10 20
difi_bpmda¥ium difi _bpmdeXsum diff _bpmdeium
d. difL d. Y
—20( — —20
. - " —{18( i
600 — —{18[ 600 — 600 — —18(
i i —{16( i
| B —{16( | B | - —[16(
400 — 400 — 400
£l — k) — _14[ k) - .
| C —114( | C | i =14
T oso0 " oso0 |- " oson |-
i u i [ u
o o ) o
i i - i
200 W =200 — 200 — N
—A00 400 - 400 —
B B - i
600 600 - -.' 600 - 20
i i L - L I i
v b b oo bv oo e Lrag 0 Cov Lo byt v b b aa b 0 I e N o
~30 20 =10 (1] 10 20 ~30 20 =10 1] 10 20 b 20 =10 1] 10 20
diff_bopmdayium diff_bpmdaX/um diff_ bomday/um
diff _ diff _ diff_bpmdeY
N — _E'Dt | B —
31}0_— —yar EH]D_— - —18( .':'I-{?D_— —18(
N ] B —16L [ —16(
' 200 16 " ano | " e00 b
: - : - —{14¢ : - —
| B —{14( [ - - | B 14(
1 - 1 - 1 -
100 |- W0 m . 100 |-
i - u "» .
- - . -
0 o o
N N C L
100 100 ~100
200 ~200 200
- 20 : " - i
~300 — — =300 —
B _||||||||||||||||||I|||||||

resression-feg sami357-vs diff bom:

.Z postpan:png

N —|18c
300 [
[ —14¢
: -
200 -
. B —{12¢
| -
] -
100 — ®
of
100
-200 |-
B f [ ]
=300 — ] |
_III|IIII|IIII|IIII|IIII|IIII ﬂ
- 100 50 ) 50 100 150
diff_bpm12X/um
d'
400
- —{z0c
300 £ —{18(
I -
» 200 —{1&(
] o
P fE — 14t
oF 12(
~100 101
_2p0 50
C B0
=300 —
- 40
=400 = -
- 20
-500 =
—III|IIII|IIII|IIII|IIII|IIII ﬂ
— 100 50 ) 50 100 150
diff_bpm12X/um
diff_ bpml12X
i n
| - —{14c
400 -
I Z | —12¢
200 - -
o
~200
_400
~B00
- e
IR TN NN R 0
~100 50 ) 50 100 150
diff_bpm12X/um
difL
B L
300 - —{18¢
. —18¢
" s00
: [ —{14c
| _
] .
100 -
iy
100 ™
-200 -
[ m
— 300 —
III|IIII|IIII|IIII|IIII|IIII ﬂ

=100 -50 1] 50 100 150
diff_bpm12X/um



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

diff_bpml1X
800 12 [ ndf 37.23/43

H
Wy [

o0 1.133 + 1.983

400

-20.24 £ 0.29

200

- 200
- 400
- 600

{W H}}'

||||||||||||||||||||||||||||||||_||
=30 =20 =10 0 10 20 30

-800

.I_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bpm1X

{-11 72/ ndf 36.88 / 43
200w, PO 05442 £ 1.1705
r "
1000 [ p1 -80.36 £ 0.17
of
=1000 :—
i +""1:,.+
= '
-2000 - +"h+++ )
i -
ull| | L1 11 I L1 11 | L1 11 | L1 11 | L1 11 | 1111 | 11

=30 =20 =10 1] 10 20 30

diff_bpm1X

E.Irl'll:“ 35.89743
p0 -0.7317 £ 6.0496
pi 16.83 £ 0.88 i
500 [ ”m
o
! 3
-500 | m H
~1000 |
I
MENEEEE NN NN NN AN N

=30 =20 =10 1] 10 20 30

diff_bpm1X

i ¥ | ndf 43,7743
1000 — .}_h
I Fﬂm p0  —0.02995 + 0.71258
- +4+.|.+
00~ p1 ~34.37 + 0.10
ﬂ_
=500 —
- Ty
i m*ﬁy
=1000 _— {IJ}tL_
[ | L1 11 I L1 11 | 1 11 | L1 11 | L1 11 | L1 11 |-I |

run7292 000 regression asym sam

%

_bpmdaY

1500:— B 1=/ ndf 51.2/38
i 15 p0 —-0.2463 £ 1.0245
1000 — M
- L p1 _48.96 £ 0.19
- 1‘.{.'.
500 ~
o
-s{m:—
E f *
~1000 |- H‘*Lhr
| L1 11 | L1 11 I L1 11 | L1 11 | | I | | L1 1
-30 -20 10 0 10 20

diff_bpmdaY

%2 / ndf 62.06 / 38

p0 -3.398 £ 4.584

F:m;_ _E.EE + 0.87 } -
b ]
_2{;.[;.;: | i

=30 =20 =10 0 10 20

diff_bpmday

¥2 ! ndf 45.09/ 38
p0 1.473 +1.476 f*
p1 1431+ 0.3
o
~1000 [~
~2000 [ &
L +++-H'
3000 +_'+++
B +
40000 - | | | |
-30 =20 =10 0 10 20

diff_bpmdaY

= - 600
I %2 / ndf 66.74 /38 - %= ndf 45.95/ 42
: 1000 = " 400
40 - p0 -1.824 + 1.984 - F“+h4 p0 —0.2782 + 0.6476
i 1 i w 200
i - W p1 1287 + 0238 500 p1 -34.42 £ 0.09
200 4 H} i 0
[ | t '
oL ol -200
i i } -
i } - i - 400
-200 - m { - 00 -
- | L . - 600
400 - } [ *quJf ~800
i ~1000 |-
I i 1000

:

bpmdeX

diff_bpmdeY

&

1000 2/ndi  24.53/42 1500 [ %2 1 ndi 37.45 1 40
I M p0  0.9562 + 1.9891 L p0  —0.2788 = 1.1522
| -- 1000 |- W
500 |- B : I _
i {thrww p1 19.8 £ 0.3 ; e p1 48.97 £ 0.23
B t 500 —
ol i
B 0 ~
: H]HHWJ ~500 —
500 - k i 5 iy
I { 1000 — *Hf'} ++
I - ! 4
_1-D|:||:|+II|IIIIIIIIIlIIIIlIIII|IIII|IIII|III III|IIII|IIII|IIII|IIII|III
=30 =20 =10 o 10 20 30 =20 =10 o 10 20

diff_bpmdeX

diff_bpmdeY

:_ ) E ! ndf 2793742 E ! ndf 43 23 7 40
2000 ey p0  0.5979 + 1.2795 p0  -3.827 + 4572
i .
i ™, p1 _78.91 + 0.19 o1 5.284 +0.911 }
1000 | i
- - i t
ol 200 |
- 400 |- { '
~1000 :— 600 | }
E u"'} -~ B00 —
~2000 |- f*+++ 4 1000 — 3
- .I. — -
_||||||||I|||||||||||||||||||||||||||| _1200__|||||||||||||||||||||||||||

=30 =20 10 1] 10 20 30

diff_bpmdeX

%</ ndf 2417 [ 42

p0 -0.1329 + 6.0511

pi 16.7 £ 0.9 H }M
£ b ﬂlH'

so0 |- - h\h’r

-mnnf— _

-15005—

—Eﬂﬂﬂi—..|'....|....|....|....|....|....|...

30 =20 10 1] 10 20 a0

g

diff_bpmdeY

=20 =10 1] 10 20

E ! ndf 28.31 /40
+F+a+"r
p0  0.7866 = 1.4607 N
p1 148.1 £ 0.3
of
~1000 [
~2000 &
K "'H"'H
B +
a0 ¥
_WDD'_l-||||||||||||||||||||||||||
=20 =10 0 10 20

S v—.)

diff_bpmdeY

%2/ ndf 45.56 / 40

WH pO  -1.736 + 1.936

m\hﬂmfv‘w p1 1514 0.4
} T

WH

1‘

T

- postpan.png

diff_bpm12X

7=/ nof 452 /43
p0 06146 +2.1128 H A
p1 3.457 £ 0.070 b H
: i
of- *
o
ol H}
—H}DU:rll|||||||||||||||||||||||||||

=100 -50 1] 50 100 150

diff_bpm12X

%2/ ndf 37.66 /43
p0 -3.259 + 4542 A
p1 2.048 = 0.151 e
200 l
uf— “ {
oo0f | ] h f )
-mnf— | {
b - H
800

"-"1

3000

2000

1000

=1000

= 2000

=
.I_IIIIIIIIIIIIIIIIIIIIIIIIIIII

b

=100 -50 1] 50 100 150

iff bpml12X

%2 / ndf 58.49 /43
1.869 + 5.668

M poO

-9.364 £+ 0.185

=100 -50 1] 50 100 150

dlthpmlzL

¥2/ndf 3319743
p0  —1.993 + 1.935 |
p1 2.443 + 0.065 + f | |
i
i

-200

- 400

- 600

-100 ~50 1] 50 100 150



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

diff_bpm1X

29.96 /43

pO 0.372 £ 0583
p1 0.06143 £ 0.0B379 {
oL +WW"|+ e h++#HM|}

- |

diff_bpmdaY _

pO

p1 0.02581 £ 0.11072

01276 + 0.5845

3029/ 38

=30 =20 =10 1] 10 20 30

diff_bpm1X

w2 | ndf 34.41 /43
po 0.7184 + 0.6103
p1 0.2821 + 0.0937 }

WWWWW |

|

diff_bpmdaY _

pO

p1

0.4472 + 0.6255

479/ 38 }

it

i

—1ED_|IIIIIIIIIIIIIIIIIIIIIII

=30 =20

diff_bpmd4aY

100 -} }
200

e L
T | [ty

=30 =20 =10 1] 10 20 30

diff_bpm1X

4652 /1 43
pO —0.1988 + 0.507/8
p1 0.08608 + 0.07388 -
TR HH } |-
3 e
oo ||
of

!

%2/ ndf 41.92 /38

p0 1568 = 1.181

p1 0.1883 + 0.2242
- }} *
:— WWWMW
S |
- | |

!

MW

diff_bpmdeX _

pO

48.51 /42

0.6112 + 0.5836

p1 0.09523 + 0.08261

OO v s b s s binna by
=30 20 =10 0 10 20

e ————
t
S —
. —

diff_bpmdeX

¥2 { ndf

33.76 /42

po 06717 £ 0.6104

pl

0.2699 = 0.0921

¥2 { ndf 30.61 /38
pO —0.1669 + 0.5109

p1 —0.03354 + 0.09637

W

J

Mﬂ%w%wﬁw

(i

100 * b
of i
100

=30 =20 10 1] 10 20

diff_bpmdeX

pO

diff_bpmdeY

pO

p1

35.29 /40

0.2926 + 0.5839

0.02434 + 0.11448

501

IIIIIIIIII
ﬂﬂﬂﬂﬂﬂ

diff_bpmdeY

28.35/ 42

08388 £ 1.1797

p1 —0.04888 = 0.16779

w2 | ndf 44.59 [ 40
po 0.5788 + 0.6242
p1 0.0381 + 0.1242 {
| W” ” M | |
ﬂ‘: J‘H 3 *’}}” V
b |
G0
1
"""""""""" Ea

30 =20 10 1] 10 20

diff_bpmdeX

po

p1

21.09/742

—0.347 + 0.507

0.05703 = 0.07279

*WHW * ﬁﬁﬂml

i_i

B

36.02 [ 40
p0 1.082 + 1.182
p1 0.06826 + 0.23256
T T 1
100 }
—300
- 400

_m:—

IIIIIIIIII
——————

diff _bpm1l2X
150 ¥°/ ndf
.1

33.52 /43

pO 0.5229 + 0.5834

p1 -0.01631+ 0.01921

W*““““"“’““MMW

dlthmeZX

%2 I ndf 31.69/ 43
p0 0.9735 = 0.6238

p1 —0.0208 £ 0.0208

M

diff_bpm12X

21217 43

pO 0.9822 + 1.1855

p1 0.01131 = 0.03931

¥< { ndf 46.8 /40
pO —0.09985 + 0.51055

p1 —0.06466 + 0.09962

Vw'

Hr!

—_

_5,[;:— |
100

dlthpm12X

¥2 / ndf 37.72/43
po 0.01463 + 0.50951

=3 —0.002908 £ 0.016947

M h*ﬂh%*ﬁwwﬂwﬁw




it it

| B B | B I
1500 |- 1500 [ 1500 |- 1500 |- 1500 [
1000 | 1000 1000 | 1000 |- 1000 |
500 [ 500 500 [ 500 [~ 500
asym_sam °F oF oF of D
[ N N -
=500 — =500 N =500 N =500 — =500
~1000 | ~1000 ~1000 | ~1000 | B 1000
_1EDD -I | 1 111 | 1 111 I 1 111 | 1 111 | 1111 | 1 111 I 1 1 _.1EDD_| 111 1 —1EDD -II | 1 111 | 111 I| 1 111 || 1 11 || 1 11 | 1111 | 11 —15':":'-' 1 1 | | I T | | 11 1 1 | 11 1 1 I 1 1 1 1 | | —15':“:' | 1
30 -20 10 O 10 20 a0 -30 20 10 0 10 20 30 -20 -10 O 10 20 30 20 10 0 10 20 100 -50 0 50 100 150
diff_bpm1Xium diff_bpmdaYium diff_bpmdeX/um diff_bpmdeYium diff_bpm12X/um
. [bf . . [hf . . ff
| B I B | I B
3000 3000 |- _ 3000 3000 |- , 3000 |-
2000 i 2000 | - 2000 2000 e AT 2000 |
1000 |- 1000 - 1000 |- 1000 |- 1000 |- .
oF of oF oF oF
: ~1000 | ~1000 | ~1000 | 1000 | ~1000 |
-2000 | ~2000 ~2000 | ~2000 | ~2000 BRI LR
_S.DDD_Illllllllllllllll|||||I|II|IIIIIII _S.DDD_ll|||||IIIIIIII|IIII|IIII|III _':}DDD_II||||||I|II|II|||||II|IIII|IIII|II _':}DDD_Illlllll||III|IIIIIIIII|II _':}DUU_II|||||||||II|IIII|IIII|IIII
30 -20 -10 O 10 20 30 -30 20 10 0 10 20 30 -20 -10 O 10 20 30 20 10 0 10 20 100 -50 0 50 100 150
diff_bpm1Xium diff_bpmdaYium diff_bpmdeX/um diff_bpmdaYium diff_bpm1 2X/um
' diff _ diff_ iff bpmdeY diff _
3000 [ Lo 3000 - 3000 [ 3000 |- 3000 -
2000 2000 | 2000 2000 | 2000 |
1000 1000 | 1000 1000 1000 F -
o o of of of
as y m Sam -ooo L7 -1000 ~1000 ~1000 -1000
— n n n n n
2000 2000 2000 - 2000 2000
-3000 [ -3000 | -3000 T S ~3000 | i
4000 | 4000 4000 | -4000 | 4000
ANEENEEEENE NN NN NN EEEEE NN Flv v brvr v v v r b ol tvvra b v b brrrr v e b =8 S T T T N N N O O | A =N B N N I I O A NI I O A O B B A OO B I A
30 -20 -10 O 10 20 a0 -30 20 10 0 10 20 30 -20 -10 O 10 20 30 20 10 0 10 20 100 -50 0 50 100 150
diff_bpm1Xium diff_bpmdaYium diff_bpmdeX/um diff_bpmdaYium diff_bpm1 2X/um
. . . [bf . . ff
| I | I | |
1000 - . 1000 PECTT 1000 1000 [~ 1000
500 - 500 500 - 500 500
o ok o il 0
ASYIIl_Sa : : | : :
-500 500 500 -500 |- 500
~1000 |- R ~1000 |- ST T T ~1000 | RRCEN ~1000 | SR ~1000
1 11 |J_I 1 1 | 1 111 | 1 111 | 1111 | 11 i | I .| 11 1 1 I 1 1 1 1 | |

=20 =100 -50 1] 50 100 150

bpm=scat ostpan" Pne

run7292 000 regréssion-asym sami357 vs diff



= I n n = n
- 300 - ao0f - 300 - 300 - 300
| - | - | - | - | -
200 200 | 200 - 200 200
| - | - | - | - | -
1 - - 1 = 1 - 1 - ] -
100 F 100 F 100 | 100 F 100 F
ofF ¢ oF of ofF o
reg_asymn_sam b ok oo oo of
-200 200 - -200 200 | -200 |-
-300 L -300 [ -300 L -300 B ~300 [
_|||||||||||||||||||||||||||||||||| _||||| _II||||||||||||||||||||||||||||||||| _I||||||||||||||||||||||||| _II||||||||||||||||||||||||||
30 -20 -10 0 1 20 30 30 -20 -10 0 10 20 30 -20 -10 0 1 20 30 20 10 0 10 20 100 -50 0 50 100 150
diff_bpm1 ¥ium diff_bpmdaYium diff_bpmdeXium diff_bpmdeYium diff_bpm12X/um
. . . . ff . ff
. 400 = . 4D0 | 40 = . 4bD = .
300 F- . 300 |- ~ 300 F- , 300 - 300 -
I - l - I - I - l -
. 200 . 200 . 200 . 200 . 200
| C | C | C | C | —
" 100 " 100 TS R ' 100 v 100
oF oF : oF oF oF
reg_asym_sam
— — _200 _200 _200 _200 _200
300 oo 300 : 300 300 _ 300 & :
400 ~400 400 400 400
-500 | -500 | -500 | ~500 | -500 |
—|||||||||||||||||||||||||||||||I|| —||||||||||||||||||||||||||||| —||||||||||||||||||||||||||||||||||| —||||||||||||||||||I||||||| —||||||||||||||||||||||||||||
30 -20  -10 0 10 20 30 30 -0 -10 0 10 20 30 -20 -10 0 0 20 30 20 10 0 10 20 100 -50 0 50 100 150
diff_bpm1¥ium diff_bpmdaYium diff_bpmdaXium diff_bpmdaYium diff_bpm12X/um
. . . .
" 400 " o0 " 400 " a0l
4 FoF b FoF
200 200 |- 200 | 200 |-
1] II]_— 1] N 1] —
reg_asym_sam o} b of
~400 400 | 400 - 400 -
_600 600 [ A 600 [ _600 -
Lol bt vra bv v oo by N [ I I
30 -20 -10 0 10 20 20 10 0 10 20 100 -50 0 50 100 150
diff_bpm1Xium diff_bpmdaYium diff_bpmdeXium diff_bpmdaYium diff_bpm12Xium
. . . ff l I Y .
» — | — | — | — B —
D300 D 3001 D 300 D a0 D 300
" a00 b ' 200 " ano | " e00 b " 200 f
| B | B | B - | B . . |
1 = 1 = 1 = 1 = e 1
100 100 100 woE 100
= = = o .. 0
g_ ] — 100 100 100 100 ~100
~200 200 ~200 200 : -200
~ap0 ' ~300 ' ~300 ' ~a00 ' 300
i 11 | 1 111 I 1 11 1 111 | 1111 | 1 111 I 1 1 _l

run7292_0OO_regréS&lOﬂ"' “““‘reg_saifii?,ST" VS diff” bpm-fgcat postpanpng L P



